uw m ul
> HE
N = g m A
o) N e e o | 2 3
s F= [} ()] va g M mm
. 5 g & 3 HEE AP
— " w | = 5
=) B £ & = X - E T g Wm
I £ e g g8 T 8w HEELRE:
@ = 2 2 - = o Im. PEEy E <|g
n o — Ke] o O £ =~ = g2 > =}
© B m o E = g = = = w0 WI i mmm % = 2|
= % (ST )] @© = W b ..m = © o nm “..m M,m W '
. ) B
@ = < = N w 9 = 25| [s 2
3 2 3 8 . Q 20 28§ = 2 wm |8 mm 5|
w Q W. o ) Qo x O E © 3 3| Els
S L & =2 = = W M C = O T@m z2 |5 = Z|a ~
o ® @ @ 6 0®© o 86 86 S ® N = 3 3
=5 L Qo =2 2 @ EG Eo © 8§ 8 % g oy
v 0. X< WS 8 = £ 5x o £ ¢ ¢ - i ﬂ/
O W = g = X - " oh
o 8o © > X © o) N o Ng Ng 8 08 N X s %
T 2% W - g o m T = m. T 60 006 nmu g o9 mm i3 rm.m
c L 5 E 58 5 2 20 2o & = 3 3 @ %
c o= N 5 £ ) o 3 Q9 2 w© Bwd 2 $n
. o © o Qo @ o w
s 20 0 E & £ o >~ E o £ 85 85 © © & @ 53 2 d mm s
- @ = = FINEEL S HEEE:
= 5, @ g |9 5| E 338 g%l 558
(4}] — 1 /A N K i /J ‘= W. .m,.a.wk
g Pla =N s [ N g |85 | et 15
- m y i3] - 3 | N% g 5 m 3 W mmm
— s g 3| £5%
_E 2 2 £ 8 B
Przekrdj A-A
[mn.p.m.]
273,65
273,34
27317 m
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Przekréj B-B
[mnpm]
275,03
275,00
273,63
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